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1. Some people like to use their fingers and thumbs to count on in multiples of 5.

(a) Complete 6 × 5 = ....

5

1...1... 2...

2... 3...

3... 4... 4...

5...

(b) Complete 9 × 5 = ....

5

...0 ...5 ...0

...5 ...0

...5 ...0 ...5

...0

2. Some people like to use the “9’s trick” on their fingers and thumbs to multiply by 9.

10

20 * 7

6 5

4 3 2
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3 × 9 = ...
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The “9’s trick” works by moving enough
counters from the bottom row to make
all the other rows 10 counters long.
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2 × 10 = ...

9 − 2 = ...3 × 9 = 27
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Complete (i) 6 × 9 = ... (ii) 2 × 9 = ...

Answers layer (3) = A1. 30 A2. 45

layer (4) = A3. (i) 54, (ii) 18]
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